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wRtenferar & ferd fder - Instructions for the candidates :

1. UvleTel OMR 37¥ UN& 9T A9 1. Candidate must enter his / her
oy gfeddr FHiE (10 HHT FT) Question Booklet Serial No.
Faqvq ford | (10 Digits) in the OMR Answer

Sheet.

- '???E-fm? FUEYT 3ud” wegi H gl 2. Candidates are required to give their
I T ' answers tn thewr own words as far

as practicable.

3. 3l AR @i w ke g sF qmies 3,
fafe #a &1

4, w¥  F EZ?FI{{HEF g4 & faw a4,
gt #1 15 fire @1 sifafees wae

Figures in the right hand margin.
indicate full marks.

15 minutes of extra time have been

: allotted for the candidates to read
fear mar the questions carefuily.
5 & J¥ _'j.liaiﬁil 7T o@vet 7o — 5. This question booklet is divided into
qQvs- 07 wvs-q/ two sections — Section-A and
Section-B.
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@ve-3r 7 70 IS 99T &, fH 6

d fret 35 @yt & FaC I
sfard &1 35 95 | JfTF FT I
34 W WeH 35 &1 & godiwd &rmi
gF & v 1 sE fuifta &1 T
307 37 & [0 3= FE T OMR
I-9FF H Ry o @@l fadey @l
HF / w9 T IR F
fodt st g@w & WgeAw / aved
geref / &g / ATGT WE FT OMR
Fv I H yEin & RO
r=qert QYT RO 3WT g

wvg - T H 2009 I AT & 1 T

gEF & o 2 dF fiRka & A
g fEzt 10 Wyt @1 IO @
Ffrard # | 7% ke 39 @vs 7
6 T Fwdia wy 7 @ & vAF F
fw 5 s Frifta & fd @ fast
3W¥AT ®T IAT 27 A &

feaqt g@rR & geagiiHe IUBIU F 8.

g quizar af & 1

[117]

In Section-A, there are
70 objective type questions, oul of
which any 35 questions are to be
answered. [f more than 35 questions
are answered, then only first 35 will
be evaluated. Each question carries
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct option
on OMR Answer Sheet provided to
you. Do not use whitener / liguid
/ blade / nail etc. on OMR Answer
Sheet, otherwise the result will
be treated invalid.

In Section - B, there are 20 short
answer type questions, each
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from these, there are 6 long
answer type questions, each
carrying § marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohubited.
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[117 ]

@[uE - A / SECTION - A

(TS W / Objective Type Questions

v g 1® mwtnﬁtm&mwﬁmﬁth forri & v @@t &1

e grT g7 Mo we fawea @i OMR Y0z TT fafeae &1 st 35 v &1 3T E1
35 x1=35
which only one is correct. You have to

Question Nos. 1 to 70 have four options, out of
mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=35

1. mﬁmﬁwﬁmmmﬁswmm%

(A) P =E, . cos¢ (B) P,, = I mecOS é

av

(€) sin¢ | (D) P, =E s lnscOs ¢

PCIU = Erms IHI‘IR

The expression for rcal average power in an alternating current circuit is

(A) P,=E, . c08¢ (B) P,y = I s €OS$
(C) P ™ Bos Trva sinég (D) Poo= B T con

2. wfes TUiies & aRTeR e B

R y
w 2 ® £
©) R.Z (D) W.L
Power factor is equal to

R
@ 3 ® Z
(C) R.Z (D) W L

B |~ | 3003-(s9/60) Page 3 of 32




w

h

u.mqﬁwﬁm‘rmﬁmi
. _1{ L
{A) sm‘(%—]

(©) tan”! (1%-]

Phase difference in ( L-R ) circyit is

(A) sin“'(“’—;'j
-1 wlL
(C) tan (—R—)
ZraerR o qRomE S B &
V.
A) =
VP
© 7 iv
S-"P

Transformation ratio in transformer is

(A} =

(C)

(B)

(D}

(B)

(D)

(B)

(D)

B)

(D)

iB)

(D)

[117]
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1117 ]

Dimensional lormula ol R.C, 18
Ay MmoOr-! v By MOUYr
() MYor? m  MP°r

YA TTEHe FT S.1, HE il ¢

(A)  Am™! B) Am™2

{C) Am (D) Fm

S.I. unit of pole strength is

A)  Am>! (Bl Am™

(€} Am (D) Fm

UHHAH TS 83 T g F e F e s A
(A) W=MB(1-sing) (B) W=MBsin®

(C) W=MB(l-cos8) (D) W =MBcos#h

Work done in the deflection of a magnet in a uniform magnetec field 1s

(A) W=MBI1-— sinB) (B] W=ABsinb
{C) W=.;IB(1 -cos€) (D) W=AMBcos¥
Ay m=E ) m?=E
) me?=E T) mx-JT—E_t-

3 ]~ [2003-s9/601| T




10.

11.

(117

Which of the following relations is correct for mass and energy ¥

(A) m=E (B) m-=E
(C) mc?=E (D) mz—g—;-

vifies W& (8),,F fgamurt wen gl @

(A)  (1000), - (B)  (1001),
€y (111), | D) (110,

Binary number of decimal number (8),, is

(&)  (1000), (B)  (1001),
€ (11, (D) (110},
NAND 7€ &1 dahd &iaT &

w - (®)
© > (D)

Symbol of NAND gate is

w - (B)
(C) :‘>-°— (D)

HE- G FA T, ), vdl & fAanies o geE g 8

ST

).
(A) T,,,=0-693/2. - B Ty2=57603

(C) T,,,=06937% _ (D) T,!2=0-693).2

B |- | 3003-s9/60) Page 6 of 32




12.

13.

[117]

The relation between half-life time 7, /2 and decay constant is

. A
(A) T”2=0-593fl (B) T”2=m
€ T,,=0-693% D) T,,,=0-693%%

e 8 1 o @01 3 o W & 9
A R (B)  fere-grarpta fafero

(C) ﬁhﬂqmﬁﬁ (D) ETRSA AMHEH

Which of the following is correct for a - particle ?

(A) electron | (B) electromagnetic radiation

(C) helium nucleus (D) hydrogen nucleus

ﬁmﬁfaaﬁﬁqutﬂwuﬁ%?

(A} 22%U- 23U+ JHe B)  2¥U-23Th+ IHe

©  23PU->29Th+ iHe (D)

238 242 4
an U—-rgﬂ Th+ 2He

Which of the following equations is correct ?

(A)  §U—-55'U+ JHe B) 238U 23%Thy iHe

© 2Bu-2Th+ IHe D)  238U— 282Thy SHe

3003-(s9/60) Page 7 of 32




| 117 ]

HTeREd 4 FA a-gEe s % |iee e @ 8 w98 2

- -
dp = o Hal)
4n .
A
=TI
], s
n .2

Which of the following is the correct vector form of the cquation of Biot-Savart

[ -
2.y

-
dB =

al=E
:{10
LS|

(.
~M >

-3
dB =

5E
y

E=F/q

E=q/F

E=F/q

E=q/F

~|Q

c=0Q-A

14,
- -+ A
(A) dB=-l-l-%- I[dl)x r) B)
. 2
- d i o
_Ho [(dlxr)
(€ dB == - (D)
law ?
> 1(dl x 7)
Hg x r
(A) dB = = ~—prv B
- 3 (B)
- :[5:‘ '\]
= Yo xr
(€  dB =~ = (D)
15. @l o W ogd-8a @ diear ad g
(A} E=Fg (B)
- ..I_ f
(C) E= 5 Fq (D)
Intensity of electric ficld at a point is
(A) E=Fq (B)
) E= %Fq (D)
16. AEY F1 JS-97 2l &
W o= (B)
o o=2 o)
IZB_. 3003-s9/60)
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17.

18.

Surface density of charge is

(A} n:%

©) o= 53-

TG Wi Y arfear B g
(A} C=dne, ::_RR:

(€ C=4dne, i:if;’j

Capacity of spherical condenser is

(A)  C=4neg, [:_RR)

2
(C) C=4n €y (:_i)

1 p, % TER A€

a2
Ky
(o ST

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

{117
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20.

21.

[117 ]
U1 W 4 anen Widias gan &
(A AR T By STt Td I
(C) et Te (D) Fou & Ier

Image formed on retina is
(A) real and erect (B) real and inverted

(C) virtual and erect (D)  virtual and inverted

T &I & HEGA 9T gl &

fa fo
i O
e fe
© -F o F

The magnification power of Astronomical Telescope is

/; Jo

Jo, B) -=2
5 BT
A w
((-'} fr, ( fa

fqeafatre 1 @1 3pme % O F1 SR EEr & 2
(A) I B) fAEEa

()  vi-Fagm (D) ST

I_LS I— 3003-(s9/60) Page 10 of 32




22.

23.

24,

Which of the following is the causc of formation of rainbow ?
(A) Scattering (B) Diffraction

(Cj Dispersion (D) Refraction
frfertaa & @ farga-gema o 7@ ¢ 2
(A)  TeTEr U (B)  X-T&or

(© AR T (D) T Ol

Which of the following is not electromagnetic wave ?

(A)  Light waves (B)  X-rays

{C)  Sound waves (D) Infrared rays
IR TTeTH €11 % fen wife 107 g &

(A)  48-75 (B)  41.14°

€ 37.31° D) 24.41°

Critical angle for transparent medium diamond is

(A) 48.75 (B)

41-14°
(). 37-31 (D) 24-41
T B FA AR S
A)  hv B &k
' ‘ v

©) .\/mT ‘ ' (D) in.‘;

[117 |
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Energy of photon is equal to

A hv . ®

© Ry o |2

26, YA 5 A il ( H) % FJUE BT €

B Ho
VS B 2
(A) o (B) B,
(C) BQHU. ; (D} Bol‘o
Intensity of a magnetising field ( H) is equal to

B3 : Ko
A . B -
o ® 5
(€} Bypg (D) Bykg

26, e § # 3eard rawn & fag gdt € 2

(A) V,<V (B) Vg> Vp

5 Iz

C) V. =V ()

b | L

1.:’s << Vp

Which of the following is correct for step-up transformer ?

(A) | V,<V, (B) Va> Y,

© V=V, O) V<<V,
oy fare wnn % fen ddors wfdaam e #

(A U (B) 3

© (D) ?.?I'IZ'

gt e e

e e e "‘U_;-J _‘[30(13-{59!60!]

£ e 5t e " =

[ 117 ]
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28.

29.

———— - ™Y

Inductive reactance for direct current is

(A)  zero (B)

C) oL (D)

YRRl 3l 1 T - g amgot gien &

A NA (B)
© L (D)
IA

infinity

1

ol

Electromagnetic moment of current carrying coil is

(A) NIA (B)
« XL (D)
1A

forgger it &1 S0 TR &

(A) NC By
To I o | (D)
The S.1. unit of electric intensity is

(A)  NC (B)

© N (D)

N/C

N/C?

[ 117}
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30 et dun o s o Ea Rt 2
| I
A} J-1-A ==
) B J=

(C) J-_-i:- D J=I%A
Which of the following is correct for current density ?

A J=1A (B) J-—*-’%

© J=Z D) J=1%A

a1, Frtofuy & nivierr ¥ fr o il 2

() u-fg (B) u=§;
(€) wp=V, E (D) ané-Vd
Which of the following is correct for mobility ?
(A} . u=% (B) u-%
C}  p=V, E D) u=E%.y,
32 fefefea 9 @ wg R 7
{A) | watt = | Jn (B) ) watt = | Vs
© twatr= laV (D) | waite ) Fn

e i My B b g o e e f st g o

e e e = E__ |3003,.‘”;m Fape 1 “’ ;

B s e




33.

34,

35.

(117 ]
Which of the following is correct ?
(A)  lwatt=1Js B) lwatt=1Vs™
(C) 1watt=]sv’ (D} 1watt=1] Fs ™’

ren U1 % AU FEA qE0 & Fe w2 B &

(A) 3 B 4

Cy S [,1?] 6
Colour code of carbon resistance for blue colour is

(A} 3 B 4

) S (D) 6
ufira-se W g ¢

(A i @ (B) 3TN &
€  Fwl & o) fevarm @
Ampere-hour is the unit of

(A}  power (B) charge
(C)  cnergy

(D) potential difference
Fr=tfafae  sites aor & fau e adi @ 2

» <k - -
(A)  Fag{EsVxH) (B) J';=q(}:‘+f;]

_ » - & = ~-b
() F=(Ei1VxB) (D) F-nq(-g-i-.'—}xi;]

| A ey

TR T-T3003-me7e0,
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[ 117 )
Which of the following is correct for Lorentz force ?

—+ - 2 = — - -
(A} F=q(E+VxB)| (B) F=q(E+V)
g -+ - = - - = =

(C} F=(E+VxB) (D) F=q(E+BxV)
4 AT e At W & BiFE gl B
(A) 025m (B) 025cm
(C) 035m (D) 035cm
The focal length of a lens of capacity 4 dioptre is
(A) 025m (B) 025cm
(€] 035m (D} 0-35cm
FrAfeafa o w1 go-fagiqu s & foe @t € 2

3“‘;_”; B =u'r_“g
{'?] - uy-—l ®) " Hy*l

- D) w=
|C' w Hu = p: ul‘ -uu

Which of the following is correct for dispersive power ?

TR
(A wartoL B  w=t—t
Hy Hy
Hy, 1 [T |
{C) w -2 (I T, -

Be ™ i, B, - By

- e e e T —

oo [T~ T3003 warem) T e o

—— T ———



38.

39.

[117)
uﬁﬁﬂ%wﬁm(p=g]ﬁmﬂm@ f, @ R TR (u=d) 4

f, @

A f,=1, B f,=2/,

€ f,=31 D) f.=9S,

3 ) e i . _4) .

If the focal length of a glass lens (p-—-é-) in air is f_and in water [p—g) is
f,, then

{Al flv=fa ) (B) fw= 2.{“

Q Ju=3/ D) f,=4f,

Ffefga & @R Weu Wi S S dean (1) 3R v F aies (4 )
few wEt & 2

1 1
(.?) [e X (B) I _).,2
.1 ]

Which of the following relations is correct for intensity of scattered light ( /) and
wavcelength of light ( 2} ?

1

A des B) T«
Kl }.ﬂv
) ek 0} Je-L
}‘\; h“

DT_] -13003 o6 | Page 17 of 32




40.

41,

42,

o P R CU S GHEGE ST G

(A)  e=1.602 x 107'6C (B) e=1-602x10"'7C
(€)  e=1-602x107'8C (D) e=1.602x107'9C
Which of the following is correct for charge on an electron ?

(A)  e=1-602x10716C ‘ (B) e=1-602x10"'7C
(C) e=1-602x10"18C (D) e=1.602x107'%C
ﬁqﬁﬁmﬁ%ﬂ?dﬁmmanmﬁﬂmwﬁm%?

(A)  ¢,=2:55 eV (B)  ¢5=2-65eV

(C)  ¢p=2-75eV (D)  ¢5=2-85eV

Which of the following is the work-function of sodium ?

(A)  $5=2-55 eV (B) =265 eV
(C)  #p=2-75 eV (D) $,=2-85 eV
s =it ) dem v &

A) A+Z B 4a-z

© z+% D) z

Number of neutrons in nucleus is

A  A+Z B) A-Z
© 2z+% D z

[117]




“ (117

43, [lE@Ed ¥ 8R gEw & fom wm wd 2

(A} (Blasitg = (Blfgzuipr (Bl (Blspim = 2(Blfusig
(€)  (Blfguairy = 2(B) apimy (D) (B)amim = 3Bfsynirz

Which of the following is correct for short magnet ?

(A) lB)axr'a! = (B) equatorial (B) (B)ﬂxm{ = Q[B)e{;ualariﬂf

(€) (B}Wuamnaf = 2(B axtal (D) {B]wﬂﬂf = 3(8) equaloral

44, TEAGH TEEE 87 T AeH Tah & HEGHA 1 HAH EA €

s I I
A 1'=2n | — (B) T=2n
(A) 1} By, MB,,

MBy,

Expression for the time-period of a magnet oscillating in a uniform magnetic

(C) T=2n

field is

(A) T=zu'/L B) T=2z [
BH H
MB,,

(C) T=2xr

— (D) T=2n[MB,

45. Trfefan ¥ F9 e TE & TEEE 89 (B,,) A gEEE gE F 3@ ()
+ fore et & 2
(A)  n*« By | B) neB

(C) n e BH2 - (D) n?i

B |- | 3003-(s9760) >
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46

47.

f117)

Which of the following relations is correct for carth's magnetic field (B,) and

frequency of magnetic needle { n ) ?

A} nl« B, (B)

€4 n«B,- (D)

Fefefgn & @ ¥ faan & foo q@ 2 2

(Al B=B,, tan8 (B)
(€ Bﬂ‘}BH tan® (D)

ntH

ni

1
O e
By,

B-BH*’tanﬂ

B=B,, tan? ¢

Which of the following is correct for tangent law ?

(Al B=B,, tane (B)
(C} B=yB,, tané (D)
e pasvite S g ¥

T (B)
C)  Bo=pu, D (D)

Relative permeability is equal to

{A' i =§, (B'
€ Bo=hp, a

Bz-B”ztanB

2
B=BH tan“ €

B [~ |3003-s9/60%
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[ 117 ]

i et o e ey w )
i _ _ ‘
(A\  B°=B; B B B .l - B
. i 5,
. Ay
Which of the following relations is correct ?
Ay B*=B] .8} B) Bl .87 -82
8.
C B?-B2_pg’ o By
() B8] -8, O B~ 5e
49. faAlefga & #17 Fram o faga qata ain ) o & fFo @ ¥ o
A c=Jug e, (B) €=
J By €
(C] Cc= 11—0— [D, c= .EQ
€ ‘ Ho
Which of the following is correct for speed of electromagnetic wave 1 vacuum ?
1
(A} e=Jfnge B) ¢=
0 €o T_"uo e
O fai) D) e=f-t
€y Hp
50. g & gE W B F OR g ¥
(A) 107! TTW (8) 1072 ZHen
{0 1073 Z@en (D) 1073 ZEam
' - 3003-199/50 Page 21 of 32




52,

(117 ]

—-’
The value of B on the surface of the earth is

(Al 10" tesla B) 1072 tesla
() 1073 tesla D) 107° tesla
HRTETE! $eelt =1 fogd-geamta amget g &
= g
A m==£ B m=t
—
C) m=N2A D) ;n’,!ﬁ"l

Elcctromagnetic moment of current carrying coil is

o N-—b S
A A
fA m =—— = —
(A) 7 (B) m =1
—*

> - -
C) m-=NA D) m =%

frterfaa & s Moz faars & oo @@t & 2

_C_ C(B)
N NAB (B) NA
. A N

Which of the following is correct for galvanometer constant ?

[ C(B)

A o B w

L 1 A al N
© < 35) ®  c(45)

B |- [3003-(59/60) T Pape 22 of 32




53.

54.

SS.

AR UHeR &1 sfetty g 2
A B ¥
(€) 100 3 (D) 50 3™

Resistance of ideal ammeter is
(A) infinity (B) zero

(C) 100 ohm (D) SO ohm

AT TR F S TFD g &

(A)  FR B) [
© /e D) I
S.1. unit of magnetic flux is

(A) weber (B) watt
(C) tesla (D)  joule

o & Fyan fras e & fagma & afom & 2
(A} M B) Ham

() F (D)  3EW

Lenz's law is the result of which principle of conservation ?
(A)  Current (B)] Momentum

) Encrgy (D)  Charge

(117 |

13 |- 13003-(59/60)
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56.

57.

8.

| 117 |
utfores aferama gen €
A X, =2nfL B) X, =2nf2L
© X, =2na7 D) X, =2nf%12
Inductive reactance is |
(A) X, ~2nfL B) X, =227L
(C) X, =2nfL? D) X, =2rf21?
e GEERYI F A AHAT gt &
(A) M=l-—?— (B) M=1+-f£?-
(C) le-{,— (D) M=1+-£—
Magnifying power of simple microscope 18
(A) M=l-—7‘q (B) M=1+-ID-
(©) M.zl--—g (D) M=1+—£—
duferd @ @ial @ e e @
A)  P=P+P (B) P=PxP,
() ,%L (D) P=P (B, + P
e T (B ] - [ 3003-mersor | ) 24 of 32



59.

60.

01,

—

[ 117 )
Power of two lenses in contact is
(A P=R+F, . (B) P=PxP
i fJ]
S D)  P=RlR+ R)
Ul g, =3/2 A, =4/3 7 Yy FAE
Ay 2 1l
(A} B
W 9 8
G 3 D) 3
If p,=3/2 and p,=4/3 then "‘pu is
1
2 ® 3
9 8
(C) 3 L
&g & for wifas o7 8
(A)  20° (B) 30°
(C) 48° D) 42¢ (FFTm)
Critical angle for glays is
(A 20° (B} 30°
(®} 48" (D) 42° { nearly )
fergrr-gereRpy il 1 W el @
A, EHE (B) 3
Q) (A) 30 () T (D) forepetg

-[3003-9/80)
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62.

63.

[117]

Nature of electromagnetic waves is

(A)  transverse (B) longitudinal
(C)  both (A) and (B) © (D) electrical
frorad & wad 1 SroEeAE d &
. _3i.n(A+8m] ~ sinA/?2
A = —maAn ®) M= sin(A+5,,)
3in[ﬁ+25m} i
(C) u= (D) iilals

sinA/f2

& . [A+d
sin >

The refractive index of material of the Prism is

sin(A+35,, ) _ SinA/2
A R=gnay2 B} H=Gin(a+3,)
. (A+5d,,
sin| 3 D) peSinAL2
€ Kr="Gnas2 BE= [msm)
Sin
2
qeTIg qY & aE] Bl @
AqEAIH
T x 99 ﬂ'ﬂl'rt B ———
(A qFdATE Fl L e
g & ArErR
() a9 F TS {0/ ——— -

Page 26 of 32
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64.

65.

Optical path is equal to
(A)  Refractive index « Length of path

Refractive index

(B) Length of path

(C) Length of path

Length of path
(D) Refractive index
(A) 3-35»:10“1? F/m (B)
(C) 8-85x10'? F/m (D)

The permittivity of free space is

(117 |

8-85x107'! F/m

8.85x10' F/m

(A] 8-85x107' F/m (B) 8-85x107"'! F/m
(C) 8-85x10'% F/m (D) 8:85x10'! F/m
rpA-faya 1 9.1 W & €
(A) CN (B) Cm
© c O =
S.1. unit of clectric dipole is
(A) CN (B Cm
<y < | (D) %
- B |~ |3003-is9/60) Page 27 of 32
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67.

68.

The vector form of Coulomb's law is

@ Fa - A7
o 7P

@ F= e Ay

frdr aorw # wiftan gt ¥

A C=gqw

© c=1i

The capacity of any conductor is

(A) C=q-v
. -

(C) Cs= 2q v

YT TTeTR P Sl &l §
-lc.

(A} E=3C.V
=12

€ E=5C%

[117 )
[
= 1 9,93
B) F=
4n €, | ';_' '3
3 ] 99; 2
P} F=4"‘0 4|2 '
(B) F, 1 i'q_i'
-
(D) ;z 1 Q92 2
4HEO '";’2
B c=L
(B) q
=l
(D) C—u
B) C=%
=9
(D) C -
_loy2
(B) E—QCV
(D) E=C.V
tT3003-m;m| Page 28 of 32




69.

70.

{ 137}
Energy of a charged conductor is
(Al E=2Cv ©o®  E=icv?
- - 2 2
(€) E=%C‘2V (D) E=C-V

afe FUE Wt ¢, F n RS GOR #9 § g S @ qeg it @

e
. B) C=—

(A) C ) (B) =

(C} C=nC, (D) C=n?c

If n capacitors of equal capacity C, are connected in parallel, the equivalent

capacity will be

A)  C= -gT (B) C= %—

(@ Cc=nC D C=n?c
a1 ¥ forg oerdega e g &
(A)  3x10% Vm ™! - (B)  4x10° vm™!
(€) 5x10% vm™?! D)  10% vm™!
Dielectric stréngth for air is
&) 3x10° vm~! - (B) 4x10°% vm~!
(C) 55'10"’ Vm ™' “ D) 108 V-l

[B]- 3003-s9/s0)] Page 29 of 32




WUE - ¥ / SECTION - B

Y AT T / Short Answer Type Questions

[ 117

m#mx#zoag’aaﬁvt:féﬁﬁmmaftmé‘im*ﬁvzw

Frifee  :

10 x2=20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each question

carries 2 marks :

|, Toq@ gEeg A E e ?
What is electromagnetic wave ?
2. wREH 9 HNE ?
What is Lorentz force ?
3. fawemmdt ¥ & g # fed
Write down two uses of potentiometer.

m,fsﬁmmﬁéﬂmmﬂamérwﬁFﬁﬁtmwﬁl

Explain parallel grouping of reﬁstors-
e SAN & SEdS § 39 1w € 2
What do you mean by refractive index of medium ?
6.  Atmg @ arm o
Write the definition of wavefront.
7 & g & sweia-Rufa @ g 7 g € 2
What do you mean by end- n-position of a magnet ?
g e fava ) afoen ferd |

Write the definition of electric potential.

10 x 2 =20

2

B |~ | 3003-is9/60)
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10.

12.

13.

TF (o) ool & 2 Tt T ferd o
Write two properties of alpha ( « ) rays.
fgamartt s wef 1 woemd)

Explain binary number system.

T & avf faeigor # quad |

Explain dispersion of light.

Y & (o A T 54 U § 2

What do you mean by diffraction of light ?
i siaar ® g9 |

Explain capacitive reactance.

TR 3R den 0 & FAT S TRy #1 TR S e |

[117 ]

Write colour code of carbon resistance for orange and yellow colours.

TEhIg ST B YA |

~ Explain magnetic moment.

T 0T Y qreweT o |
Write the definition of angle of dip.
TR TR w1 IR 06 S5 W o |

Write down the definition and S.1. unit of magnetic flux.

NOT T OR i %! Fega Wull a1 et wiores frd

Write the truth table and Boolean expression of NOT and OR gate.

raT WEo F fagr Wy 0

What is the principle of conservation of charge ?

TR A F AT F W § )

What do you mean by apparent dip ?

3003-(s9/60)
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[ 117
ﬁémm!hnguw‘rm@uﬁon'

mmzjﬁzaﬁmmi:h?sn#tmf!m*ﬁ?
Saﬁfﬁﬂfﬁai@': -

3x8=]15x
Question Nos. 2] to 26 are Long Answer

Type Questions. Answer any 3 questions. Eqch
question carries 5 marks - 3x5=1§
Wﬁﬁwﬁﬁﬁﬁmmiﬁwmmﬁ|
Find out the €xpression for equivalent focal len

22 mfﬁaﬁﬂ‘l@émmmﬁaaﬁ;

5

gth of two lenses in contact.

S
Establish expression for the width of the interference fringe.

23, mﬁwi‘wmmwm. 5
Explain construction, working and uses of a transformer.

24, w%m#mmﬁmm%?ﬂqmmaﬁﬁwﬁ-mﬁm
et / a9 we & o 5
Establish cxpression for heat Produced in a conductor due to flow of current.
What do you mean by electric power antj electric energy ?

25.

ﬁtaﬂﬂﬁwﬁﬁfﬁﬂmmqmﬁq@a%ﬁmwmﬁ|

Establish expression for magnetic field at equatorial position of a magnet.

26. T & 99T &1 ford S 39 wforg &5y

Writc down Gauss's theorem and prove it.

B |- |3003-s9/s0)
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